1. (MoBTOPEHME) N AaHHbIX Nap MHOXecTB A n B
HamtT: AN B,AUB,A\B,B\A, AAB, a TaK e
agononHeHne mHoxkectBaAgoU={2,4,6, 8, 10,
12}.

1)A=1{2,4} B=1{2,4,8}
2)A={2,4,6,8, 10,12} B={10, 12, 2}

2. (NoBTOpPEHME) HalTn AeKapToBO Npomn3BeaeHumne
MHoXecTB A mB: A={2,4} B={2, 3}

3. (NoBTOpeHne) HanTn aekapToB KBaApaT
MHOecTBa A

1) A={2, 4}
2) A= {3}

4. Ha mHoxecTtBe A ={1,5,7} 3apaHo buHapHoe
oTHoweHune K. Onpeaenntb KaKMMKU N3 CBOUCTB,
PACCMOTPEHHbIX Ha YPOKe, oHO ob6nanaer.

1)K =1(5,5),(7,7),(5, 7)}
2) K=1{(5,5),(7,7),(5, 7),(7,5),(1, 1)}
3) K=1{(1, 1)}






